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QUESTION 1

Refer to the code below:

4 let promise ® execute();

Jé promise
D7 .then => conscle.log('Rescivedl’
B then => consocle.log('Resclvedl’
D9 . then => console.log('Resclivedld’
il . catch ) => conscle.log('Rejected’
il then > conscie..og("Rescivedsd’ ;

What is the result when the Promise in the execute function is rejected?
A. Resolvedl Resolved2 Resolved3 Resolved4

B. Rejected

C. Rejected Resolved

D. Rejectedl Rejected2 Rejected3 Rejected Rejected Rejected4

Correct Answer: C

QUESTION 2

Which function should a developer use to repeatedly execute code at a fixed interval ?
A. setintervel

B. setTimeout

C. setPeriod

D. setinteria

Correct Answer: A
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QUESTION 3

Referto the code below: Const pi = 3.1415326, What is the data type of pi?
A. Double

B. Number

C. Decimal

D. Float

Correct Answer: B

QUESTION 4

A developer wrote the following code to test a sum3 function that takes in anarray of numbers and returns the sum of
the first three numbers in the array, and the test passes.

A different developer made changes to the behavior of sum3 to instead sum only the first two numbers present in the
array.

Which two results occur when running this test on the updated sum3 function? Choose 2 answers
A. The line 05 assertion passes.

B. The line 02 assertion passes.

C. The line 02 assertion fails.

D. The line 05 assertion fails.

Correct Answer: BD

QUESTION 5
A developer has two ways to write a function:
Option A:

function Monster() {
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This.growl = () => {

Console.log ("Grr!™);

}

}

Option B:

function Monster() {};

Monster.prototype.growl =() => {

console.log("Grr!");

}

After deciding on an option, the developer creates 1000 monster objects.

How many growl methods are created with Option A Option B?

A. 1 growl method is created for Option A.1000 growl methods are created for Option B.
B. 1000 growl method is created for Option A. 1 growl methods are created for Option B.
C. 1000 growl methods are created regardless of which option is used.

D. 1 growl method is created regardless of which option is used.

Correct Answer: B
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